el & ) seanll
claia 3;.41;
L IV SR K

Al 40

el S50 o i 2 60 LT dn 0 d U1 s sheaalloe LS KilSn e ) ol

gl Jale /o

1)

2)

3)

4)
2)

1)

2)

3)

4)
3)

The integral of trigonometric functions

z A-t B -t D: None of them
J‘: cotf csclfdf = 4 : 3
- A
+ B
- D
The integral of trigonometric functions
J‘nn:f:5”‘2-"“53)""{*: A- lfj5 B- _1,;5 C: —2;'5 D: None of them
- A
- B
+ C
- D
The integral of improper functions
J“” dv dv— Aln(1-3) |B:In(1+3) |[C:mm(2-3) D: None of
b 1+ v {1+ tan™tv) B h B them
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1) - A
2) + B
3) - C
4) - D
4)
The integral of improper functions
JPlxInxdx = A % B:3 = _%. D None of them
1) - A
2) - B
3) + C
4) - D
5)
The length of curve: y = (%) (x?+2):fromx=0tox =3 is:
[Aa12 [B22 [c: 24 D Noneofthem |
) + A
2) - B
) - C
4 - D
6)

4The volume of the solid generated by revolving the region bounded by the line and
curve:
yv=x-—x*,y=0.

- s - T : :
Al B C 5 D: None of them
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The area of the region enclosed by revolving the region bounded by the line and the curve:
y=x’, andy=x+6

[ | A it fo— D: None of them
5 6 -

2) +

oaQwp»

8)

The center of mass of a thin plate of constant 8 density covering the given region:
The region bounded by the parabolas y = x —x° and v = —x

| a(1-9) | B:(-13) | c :(23) D: None of them
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A
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9)

The integral of inverse trigonometric functions:

A 2estn ) 4 o B:esn '@ 4o C:2e5tn (¥ 3 ¢ D: None of them
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The integral of inverse trigonometric functions:

I ""1“:_:“ dx= A: §\."(trm“1]: +C B: g\."(tarr'-z.r]! +C | C g\."(tarr;x]’ +C D: None of them
e

=
cQw»

1)

The solution of initial value problems:

:—1 = e’ sin(e’ — 2),v(In2) = 0.

Ary=1—cos(e*—2) [Biy=1+cos(e*—2) |C:y=—1—cos(e*—2) D: None of them

=
CaQw»

4 -
12)

The solution of initial value problems:

. S dy , «° ) o
The gradient of a curve 1s given by: — + tT = 3x. then the equation of the curve if it
ax

passes through the pomnt (1, é) is

Ay=2p+Z_ |B hl,\‘=§X:—§+1 Cy=sx"—

x3 D: None of them
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. The following sequence: [":_L} . 1s

| C: comvergenceto 1

[ | A: comvergencets 0 | B: diversence to o0

14)
The following sequence: {cos (?—l]} _ is
[ | A: convergence to 0 [ B: divergence to ®@ C: convergence to 1
H - A
2) - B
3y  + C
15)
The following series: X;e Jﬁ 15
| A: comvergence fo 0 I B: divergence to oo C: convergence fo | |
H - A
2) - B
3y  + C

16)
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5 5 5

The following series: 5 + -+ P v B is
| A: Harmonic series | B: ceometric series | C': p-series |

. . - . In4
the integral of the Inperbolic functions: f:ﬂ cothxdx.

=
@l

. . - . 2, _g .
the integral of the lyperbolic functions: fnﬂ 4e~% sinh@d6.

A-na-3 B:Ind+2 ‘ C:ind—2 D: Nonc of them

.20 .20 D: None of
B 5 C's \ one o ]
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dx is

. ; . 1
The integral of the functions: fn

D: None of them
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20)

. The integral of the functions: [ V9 — x* dx is

9 - 3 a9=x2 9 - o 9=x= 9 - o 9=x= N
A zsint(3) =S5 +c  [Bizsin i (5)+ T+ | Cigsin () + T4 D: None of them

1)
2)
3) -

J’_
QO w

21)

The integral of the functions: [ tan®x sec¥x dx is:

1 - 2 1
A osec’x + gsecs.\'+gsers3x+ c
1 - 2 g 13
B: osec’x —{secSx—gsec*x +¢
1. 2 o1 .
C:Zsec’x —Zsec®x +sec’x + ¢
5

D: None of them

>
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